DIvISION WITH A REMAINDER II (H - SET 2)

DIVISION WITH 1 TO 10 Hame
Time: Score: A
9 23834 +6 = 06 5472+ 1=
9 31751 =9 = 07 63041 =8 =
93) 4154 =1 = 08) 47522 =5 =
91) 7980 = & = 109 22158 + 10 =
95 7006 +~ 4 = 1) 26684 + 3 =
9 81361 =+ 10 = 1 36767 + 8 =
91 24912 = 10 = 12) H2677 =7 =
98) 18273 = 2 = 13) 27514 -5 =
99 3911 = 3 = 14 31098 — 5 =
100) 65092 = 9 = 15) 27425 + 3 =
01 13995 = 4 = 16) 12629 + 2 =
102) 14244 = 3 = 17 42928 + 10 =
103) 5074 + 2 = 18) 6887 +4 =
101 8526 = 1 = 119) 42907 = 6 =
105 8964 = 4 = 1200 2008 =1 =
Mathematics: Division - Level § - Horizontal - Set 2 5 cul
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